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1. (1 pt) From what calculus formula is the mask [-0.5  0  0.5] derived?

[bookmark: _GoBack]

2.  (2 pts) Why should the values of an edge-finding mask sum to 0?




3.  (2 pts) Give the response of the mask [  -1/2    0     1/2   ] on this 1D signal:
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4. 
(5 pts total)  Consider the following tiny image:
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a. (2) Give the response of the two Prewitt operators on pixel (2,2) only (in bold). Show your calculations.
fx = 						fy = 






b. (2) Give the response of the two Sobel operators on pixel (2,2) only (in bold). Show your calculations.
fx = 						fy = 






c. (1 ) For how many pixels in the image above can we compute the dot-product with a 3x3 mask without using padding?


5. (1) Tell your instructor about anything from today's session (or from the course so far) that you found confusing or still have a question about. If none, please write “None”. [You may always write comments to this effect, even if I don’t specifically ask for them!]
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